
Mesure d’un Rectangle (F)

Calculez les mesures manquantes pour chaque rectangle.
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A = 151,2 dm2

3.

?

?

P = 32,92 m
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Mesure d’un Rectangle (F) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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h
m

8,2 hm

P = 29,6 hm

A = 54,12 hm2

1.

8,
4
ft

12,6 ft

P = 42 ft

A = 105,84 ft2

2.
8,
40

d
m

18,00 dm

P = 52,8 dm

A = 151,2 dm2

3.
7,
0
m

9,46 m

P = 32,92 m

A = 66,22 m2

4.

22
,0

ft

16,95 ft

P = 77,9 ft

A = 372,9 ft2

5.

35
,0

d
am

66,0 dam

P = 202 dam

A = 2310 dam2
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